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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2021-22

ECOACORI11T-EcoNoMiIcS (CC11)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TS AT N
and adhere to the word limit as practicable. Geq e 2691

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fsERe @-@ieE 5T arte Ted nies

(a) Define Type I error.
Bizel [ @ifed kel wis )

(b) Explain the terms ‘statistic’ and ‘parameter’.
‘Statistic’ '8 ‘parameter’ 2Y{G T T

(¢) Define a random variable.
9 BETCRe TR TS |

(d) What is the notion of unbiasedness of an estimator?
(6 afFered feRerFerR ARl 6 ¢

(e) What is the first step in empirical economic analysis?
Sfowees Sdfes RTsea aew *meset & 9

(f) Define ‘confidence interval’.
o AR AR e wie |

(g) Distinguish between simple regression and multiple regression.
e feTeqe @ weld fareare ey AL & 9

(h) State the BLUE properties.
BLUE &fefer Srard

(1) What is standard error?
=i FIfe FIE 0T 9

(j) What is perfect collinearity?
o)l SRERRFS! P A 9

2. Answer any four questions from the following: 5x4 =20
fasfeie @-ie orE eloas T nes
(a) What do you mean by Coefficient of Determination? Show that »* = ESS/TSS .
FRFF A FICSF A 2 AN A @ 7 = ESS/TSS .
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(b) Show that the OLS slope coefficient estimator /3, is a linear function of the Y,
sample values.

A8 @ OLS I 7290 2lIFeTs f3,, ¥, TIAISNAA G0 Feita i Seerss |

(c) Explain the two-tailed test of hypothesis testing.
23] 2T 72oPRRRE 2T I i

(d) ‘In linear regression model, increasing the number of regressors by one will
lead to loss of degree of freedom by one’ — Do you agree?
‘a3 @RT 2o ToE AT AT @F I TR 9L 27 FHTeF WAl
GF 2 Me’ — TS WL T 9

(e) A normal population has a standard deviation of 10. A random sample of size
25 is taken which has a mean 50. Construct a 95% confidence interval estimate
of the population mean. [z ;,; =1.96]

G FOIRP INLF 7S [Rpyfed W 101 @b IO T ([e 2o I T
YT T 25 6 51C 50 | AN SITH 95% B I et fopefd vl
(f) Distinguish between ‘Null Hypothesis’ and ‘Alternative Hypothesis’.
) 25 ¢ 7RIS AT T A1 TN
(g) Briefly explain the AR(1) process.
FREFC? AR(1) *Mafeb I @i

(h) In a big city, 325 men out of 600 samples drawn were found to be smokers.
Does this information support the conclusion that majority of men in the city
are smokers?

G IO *ZE 600 G 96 TN 325 G FEAE GHAR AN (57T 92 L
(X 5 T@T A @ G = Rea SR 2J7 gl o

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ie 76 ava Ted wiss

(a) (i) In a hypothetical data on consumption in relation to income for 30 5+5
families, the following results were obtained:

RSS, =377.17, df.=11
RSS, =1536.8, df.=11

If Fygs,,,, =2.28, examine whether there is heteroscedasticity or not.

30f6 ifFitee ST % (ol i dog v ffere FafERke e
s (91CRS

RSS, =377.17, df.=11
RSS, =1536.8, d.f.=11
I Foosain =2.28 =1, AAF S0 92 O heteroscedasticity TR 11
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(b)

(c)

5011

(i) The estimated production function is

log X =—-3.938 + 1.451logL + 0.384logK
(0.237)  (0.083) (0.048)

R* =0.9946, p=0.559

Test whether autocorrelation error is present in the above equation or not.
(Given that k"=2 and n=39 for the 5% significance level d, =1.38).

@6 ARAAFE TeAW AT 25

log X =-3.938 + 1.451logL + 0.384logK
(0.237)  (0.083) (0.048)

R*=0.9946, p=0.559
A FE@ @S @ AN Feae AR aifesmibere men Wi k=2,
n=39, 5% Ol W& d, =1.38)
(i) Explain the notions of consistency and efficiency of a parameter. 3+3+4
(i) Explain why is random error term introduced in an econometric model.

(iii) ‘Durbin Watson Test statistic is not a very powerful test to detect the
presence of autocorrelation’ — Justify.

() 93 AT S € wHOR AN 1t FC! |
(i) @3 TFEETES ToE aferml seve T4 27 @& 9

(i) ‘Durbin Watson 325ifS e «iFrmt 43 =& «1Frwt a2 — Sfeba gade
b= e

From the annual observations from 1980 to 1994, the following regression 4+2+4
results were found where Y = Exchange rate of German mark to the US dollar

(GM/$) and X = ratio of the US consumer price index to the German

consumer price index; that is, X represents the relative prices in the two
countries:

Y, =6.682 — 4318X, r>=0.528
sc=(1.22)  (1.333)

(i) Interpret this regression. How would you interpret 7°?

(i) Does the negative value of X, make economic sense?

(i) Suppose we were to redefine X as the ratio of German CPI to the US CPI,
would that change the sign of X ? And why?

1980 (ATF 1994 *1F® sitex JifFF w2 (A Rl e w1 sieat itz @A
Y = German mark (XCF US dollar (GM/$) R =19, @k X = US (SI5-17 6%
(tF German (SI15R7Y 3555; e X 7fb (reei e wiws

Y, =6.682 — 4318X, r>=0.528
sc=(1.22)  (1.333)
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() FS7efba sresd 7cem ofi [Fei@ 12 -9 Sl i F963 9
(i) X, -9F AfeF N07 F @i selafos sies =i ¢

(ili) @A TP, X = German CPI (/(F US CPI Sg7te| (ICHcg X -93 B &
SRS 2T 9 (A 2

(d) Explain the concept of multicollinearity. Describe some of the remedial 4+6
measures for the problem of multicollinearity.
FeelifFel el I T IAFFFel FEPR FNATRCEH IR0 T 36w
I

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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